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»Median of an arithmetic sequence

If the three numbers a, b, and ¢ form an arithmetic sequence,

then b is called the median of an arithmetic sequence of @ and c.

For example, if —8, 12 and 32 form an arithmetic sequence,

then 12 is the median of an arithmetic sequence of —8 and 32.
Therefore, if the three numbers a, b, and ¢ form an arithmetic sequence,

then b—a=c— b « the subsequent term minus the previous term is equal to common difference

2b=a+c
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[ Median of an arithmetic sequence formula)

If b is the median of an arithmetic sequence of @ and ¢,

Then 2b=a+c, means b= ?.
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Application of the median of an arithmetic sequence
Given that three numbers form an arithmetic sequence,
and the median of the arithmetic sequence is 15.

Find the sum of these three numbers.

Suppose these three numbers are a, 15, and b.

Since the three numbers a, 15 and b are an arithmetic sequence, a+b=2x15=30.

Therefore, the sum of three numbers a4+ 15+b=a+ b+ 15
=30+15
=45
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